
Australian Pump Industries Pty Ltd  |  7 Gladstone Road, Castle Hill NSW 2154  |  P: 02 8865 3500 |  F: 02 9894 4240  |  www.aussiepumps.com.au 

   GMP/JUN22/1 All prices exclude GST 

AUSSIE SPARES DIAGRAM & PARTS LIST 

AUSSIE GMP PUMPS:  

Position  
Part  

Number Qty Description List price 

01a F502  1 Pump Casing  $814 

01b 8922 1 Valve B1½KQ-A/ST  $183 

01c 8928 1 Inspection Door  $69 

01d 6010 1 Check Valve Complete   

01e 8934 1 Gasket Inspect. Door  $13 

01f 6186 1 Flex. Washer 33x39x2  $3 

01g 6213 1 Conical Tap 1” Gas  $8 

01h 6209 1 Conical Tap ¼” Gas  $7 

01i 6230 4 Hex. Head Screw M8x20 UNI 5739 $6 

01l 9514 2 Grub Screw M8x45 UNI 5923 $8 

01m 8978 2 Complete Pin M8  $46 

01n 8185 3 Torque Nut M5x10  UNI 5933 $5 

01p H910 1 Complete Wear Disc kit  $69 

B1½KQ-A/ST WITH 0.75KW ELECTRIC MOTOR  
Cat EA6F 

Position  
Part  

Number Qty Description List price 

02 F503  1 Impeller B1½KQ-A/ST 0.75KW $275 

02 Tba 1 
Impeller B1½KQ-A/ST in bronze  
(5 blades) 

$630 

02 S689 1 
Impeller B1½KQ-A/ST in stainless 
steel (3 blades) $834 

03 F490  1 Electric Motor 1HP 230/400V  $890 

04 7776 1 Cover Disk dis. G 1708  $33 

05 7781 1 OR 221 (149.2x5.34)  $8 

06 7702 1 Counterface 17.5-36-8  $33 

07 6781 1 Mech. Seal 16-32-13  $208 

08 F156  1 
Stainless Steel Key B 4x4x16 UNI 
6604 $7 

09 6162 1 Washer 8x24x2 $3 

10 7103 1 Brass Nut M 8x1.5  $6 

11 6614 8 Screw T.E. M 5x14 DIN 1587 $2 


